3.1 Intersection with Calculators 2015.notebook

September 28, 2015

Graph each line.
Ly=4x+3
2.x-4y=8

GF‘FLI'“j - Frad e jatersection o € o

,|'.n¢5.

Matrix — An avran of nuuabers

T\ v A
Aundrew -
wmartew| | T

Elrmyaation— Solve 29 uafin 57 31#,-,,‘7 ool
oF avaviqbk.

gHL-"f/?“\f);,,_, - Snlv( A
7 r‘f’/"c"’J Ayanall, U,',u,m“”

Oct 16-8:07 AM

Oct 16-8:39 AM

c s pamt = e;um‘-fms have at least owe
gb/u\"'l'uw-

Tucomsrstent— ne selutrens

D¢P<MJL-.+ ~ rafiacte Aambar of salatioms
I\qnl-(on&v\“" - (K«c‘Hj Oy solurtion
[Feasis( regron ~ Possibly ama

Bouadt, ¢ regrn ~ Saral] aveq Hiat Maks gy
3"!1’::[, Frue,

u...(.*l'vs

Frel

Bound

Sep 28-12:56 PM

Sep 28-12:56 PM

S ox+2y= 0
-2 ~x —Gb>
s x 0
>I—-—-3)<—3L %V = *
\/——3><-+S‘
=- 3 _
Mm=-2

Sep 28-12:56 PM

Sep 28-1:23 PM




3.1 Intersection with Calculators 2015.notebook

September 28, 2015

>< o
/qh

Qx—j:’s +Qjaq
-2 - 2% =X
~Yy=-2x +3 Tj_j-_ _—’-::"'—Z—
J==2x-3 9:CE)+a
M =2 m=-1

Sep 28-1:23 PM

Zx-y= 2 X+y* @
-23x - 3% - =X
= 3x+2
= T =
Y>3y2 Y<-X+6

< -7vy="6 X+2y=1l
—%x )’_3 - /‘)<
=Qy=-3x-6 2ye=x+11
%Z = = = =
=X +gos
(3 /==
T F)x+ &
(Y
Oct 16-8:54 AM

Sep 28-1:33 PM

§ coevber thon >

B [ess+hamw <

Grap™ Tuegualires
33 7, Z2 X+ 2\/

—X

7 =%
Y% % y =X

yzx-2

Sep 28-1:33 PM

Oct 23-12:02 PM

Sep 28-1:40 PM



3.1 Intersection with Calculators 2015.notebook

/\

B8

= |3,000+ S0°%

Y

7= 2500 + 200X

Xnva —1o
X maaXx Jp

y=ASvoo

Sep 28-1:43 PM

September 28, 2015



	Page 1
	Page 2
	Page 3

